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This Question Paper contains 20 printed pages. 

(Part -A & Part - B)

SI.No. 

056(E) 
(MARCH, 2019) 

SCIENCE STREAM 

(CLASS- XII) 

Part -A : Time : 1 Hour/ Marks : 50 

Part - B : Time : 2 Hours/ Marks : 50 

(Part - A) 

Time : 1 Hour] 

Instructions : 

:l<* il.'i,-1.l �G -i<>t, <Y•-tL

�ril.1 ct{ut OMR dlllti 
� 1>'<9.l{ <� �.

Set No. of Question Paper, 
circle against which is to be 

darken in OMR sheet. 

09 

/Maximum Marks : 50 

1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the

4) 

5) 

6) 

O.M.R. sheet.
rJ'he OMR sheet is given for answering the questions. The answer of each
question is represented by (A) 0, (B) 0, (C) 0, (D) 0. Darken the
circle• of the correct answer with ball-pen.
Rough work is to be done in the space provided for this purpose in the Test
Booklet only.
Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

1) It is an example of animal who develop accessory

respiratory organs to utilize atmospheric air when fresh

water dries Up.

Rough Work 

(A) Uromatrix

(B) Clarias

I 

(C) Astacus

(D) Amoeba
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2) If any population has equal birth-rate and death-rate then

its age pyramid __x, vital index Y and population is Z

(A) X = Bell-shaped

Y= 100

Z = Stable

(B) X = Triangular

Y = < 100

Z = Stable

(C) X = Urn-Shaped

Y= > 100

Z = Declining

(D) X = Triangular

Y=0
Z = Growing

3) Which of the following is correct for decomposer?

(A) Micro consumer, heterotrophs like bacteria

(B) Micro consumers and release organic nutrients

(C) Macro consumer, heterotrophs like fungi

(D) Micro consumers and prime source of energy for all

food chain

4) Select correct option for the "P" and "Q" in the given chart
of a biological magnification of pesticides.

Fish eating birds ➔ "Q"

t t 

Large fishes ➔ "2ppm"

t t 

Small fishes ➔ 11pn 

t t

Zooplankton ➔ 0.04ppm

t t 

Water bodies ➔ X

(A) P = 0.25 ppm, Q = 0.04 ppb

(B) P = 0.5 ppm, Q = 25 ppm

(C) P = 2.5 ppm, Q = 25 ppm

(D) P = 0.04 ppb, Q = 2.5 ppm
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